oo0ooo00O0O00OO0O00O00O0O000000000 1

e JOODOO

oooooOoooooo

O ooooo

ooooooooooooooooOoOoOOOOOOOO0OO0OoOooooooooOoO0. oo0o
ooooooooooooo.

foo(n) { foo(n) {
CODE A ; CODE A ;
if (CONDITION A) { while (CONDITION A) {
CODE B ; CODE B ;
m=n ; PUSHQ) ;
foo(m) ; m=n ;
CODE C ; CODE A ;
} }
CODE D ; CODE D ;
1 while (!STACKEMPTY()) {
POPO) ;
CODE C ;
if (CONDITION A) {
CODE D ;
}
}
}

e J000O0OOO0OOO,000D000O0O0O0O0DOODOOOOOODOOOODOOOODODOO
000000000, mo0o0bo0o0o00,push00000000O0O0O0DOOOO,
Jo000000000000000O0O000000C00C0O0O. Opop000O0O0OO0O
000000000000,000000 (stack) 000O000ODO0O0OD.00DODOOO,
gooboo0oo0oooo0ooooo0oO0oOo0ob00o000o0o00O00000000.

e J00ODOOOOODOODO,O000O0O0DOOO0O0O0OOODOOOOOOOOOOODOOOOO
go0o0ooooooooooOoOoOO. 0oooO0oO0O0OO00000000oooooO,000
00000000 poPO00O0O0O0O0OOCOCOODOODODOOOO.

e JO0OODO,000O0COOOOOOOOOOOOOOOOOOOOOOOOCOCODOOON.

e J00,0000000C0O0,0000D00000O0O0C0O0O0O0COOOOOOOO,O0O0O0
gooooooooooOoooooooo.oooboo,0o00000000000C0O0O0AO
gooo.
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2 goo0ooO0o0oO0o0OoO00boOO0oOoO0b0O0O00D0OO0
foo(n) { foo(n) { foo(n) {
CODE A ; CODE A ; CODE A ;
if (CONDITION A) { while (CONDITION A) { while (CONDITION A) {
CODE B ; CODE B ; CODE B ;
m=n ; PUSHQO ; m=n;
foo(m) ; m=n ; CODE A ;
} CODE A ; }
} } }
while (!STACKEMPTY()) {
POPQ) ;
}
}

gooo,0000000000000,000000000000D0O0O0O0O0OOODOODO
gooooobooDO.000000,000000000D0000,000000000DO00O0ODO
000000000000000000000.00000000000000 (elimination
of tail recursion) 0 00 .

ex13-10.c 0000 ex13-3.c 0000000 recursion_tail 000000000000
ooo.

ex13-11.c 0000 ex13-3.c 0000000000 recursion_head 00O OOOOOO
gopoooo.

00,0000000000000000000O0O0O0,0000000000000000O
ooo0oooooooooooo.
oood

O exercise-13-10 00 00000C0O0O0OO0O0OOOOOOOOOODOOOOOOCOOOOOD
go,000000000000O0.0000C0O0O0COO0OO0O0OOOOO0O,0000000O
goooooOooOo0ooOoO0ooOooOoOoooon.

O exercise-13-12 000000000000 OOO0OO0OOOOODOOOOODOOOOOCOOO.
O exercise-13-13 0000000000000 O0OO0OOOOOOOODOOO.
0 exercise-13-14 00000 DOO (Ackermann function) 00,0000 m,n 00000
go00oooooooooooooooooo.
n+1, ifm=20
A(m,n) = ¢ A(m —1,1), ifn=0
A(m —1,A(m,n—1)), otherwise
0o00o0o00o00ooo0ooooOooooooooO. 000, 0 Am,n) DOOO0DOOO
goooooOooooooOoooooa.
0000 bo0oooooOoO0oOo0OOoO0OOO0OO0COO0,0000000000O0O0OG00O0O
goooooooooooo.

00000 ODO00o0oooooooooooooooooooooooo.
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oo0ooo00O0O00OO0O00O00O0O000000000

goo0ooO0o0oO0o0OoO00boOO0oOoO0b0O0O00D0OO0

[0 ex13-10.c OO0

/* $Id: ex13-10.c,v 1.4 2004-07-06 10:50:31+09 naito Exp $ */
#include <stdio.h>
int recursion_tail(int)
int main(int argc, char **argv)
{
printf ("ret=%d\n", recursion_tail(9)) ;
return O ;
}
int recursion_tail(int n)
{
printf ("%d\t", n) ;
if (n == 0) return O ;
while(n > 0) {
n-=1;
printf ("%d\t", n) ;
}

return n ;

0 ex13-11.c OO0

/* $Id: ex13-11.c,v 1.4 2004-07-06 10:51:27+09 naito Exp § */
#include <stdio.h>
int recursion_head(int)
int main(int argc, char **argv)
{
printf ("ret=Yd\n", recursion_head(9))
return O ;
}
int recursion_head(int n)
{
int al[10], index=0, ret_value, m ;
ret_value = n ;
m=n ;
while(index < n) {
alindex++] = m ;
m-=1;
}
while(index >= 0) printf("%d\t", alindex--]) ;

return ret_value
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e JOODOOOOODO

gooooooo0o0obooo0o0000O00,000000000000000O0O0O00000DO
oo.

go0ooo0o0ooo0omoOooo0o0o0oO0o0o00O0O00,000000000000.

go0,00000000C000O0O000CO0O0COOOCOOOOO,000O000000000O0O
oooo.

gooooOooooooOoooOooooobooon.

000000 (linear recursion) 00, 0000000000000 000000DOOOOOODO
g0.00000000000O0O0,000000000000O0O0O.

000000 (tail recursion) 00, 000000000000000000O0O00O0O0OO0OOO
goooooo.

e JOODOOOODO

O exercise-13-1 0000000000000 O0O0O0O0O0O0O0OOOOOOOOOOOOOOOOOOO.

/* $Id: exercisel3-1-1.c,v 1.2 2004-07-02 11:01:27+09 naito Exp $ */
#include <stdio.h>
int gecd(int, int) ;

int main(int argc, char **argv)

{
printf("%d\n", gcd(120, 180)) ;
return O ;

}

int gcd(int a, int b)

{

if (b == 0) return a ;
return gcd(b,a%b) ;
}

/* $Id: exercisel3-1-2.c,v 1.1 2004-07-02 10:59:07+09 naito Exp $ */
#include <stdio.h>
int gcd(int, int) ;
int main(int argc, char **argv)
{
printf ("%d\n", gcd(120, 180)) ;
return O ;
}
int gcd(int a, int b)
{
return b?gcd(b,a%b):a ;
}
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0 exercise-13-4 0000000000 O0DODOOO0ODOODOOOOODOOODODOODODOOODO. /* $Id: exercise13-5.c,v 1.2 2004-07-02 11:07:46+09 naito Exp $ */

0o0000,0000000 strrev00000O0O00O0O00O0DOOOO,0000C000000O
gooooOoooOooooooooo.

/* $Id: exercisel3-4.c,v 1.1 2004-07-02 11:03:03+09 naito Exp $ */
#include <stdio.h>
#include <strings.h>
void *strrev(char *) ;
int main(int argc, char **argv)
{
strrev("0123456789") ; printf("\n") ;
return O ;
}
void *strrev(char *s)
{
if (strlen(s) == 1) {
printf ("%c", *s) ;
return ;
}
strrev(s+1l) ;
printf ("jc", *s) ;

return ;

#include <stdio.h>
#include <strings.h>
char *strrev(char *) ;
int main(int argc, char **argv)
{
char s[]="0123456789" ;
strrev(s) ; printf("%s\n",s) ;
return O ;
}
char *strrev(char *s)
{
char *e, c ;
if (!*s) return NULL ;

e = s+strlen(s)-1 ;

if (e-s == 1) return s ;
c = *e ; *e = >\000’ ;
strrev(s+1) ;

*e = *¥s ; *s = C ;
return s ;

}

0O exercise-13-56 00 00O00O0D0O0O0O0OO0OOO0OOOOOO.

oooo

char *strrev(char *s)

gooooo
000 sO0O0000D000O0DO00O000. 0000 sO00O0D0000.
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0000 obo0oooo0O0,0000000C0000O0O0000O0OO0O0OCOO. DOAO, strrev
00000000 strlen00000000,0®?) 00000000000000O0.

goooooOooOoO0,0o00000000000O0C0O0O00O0O00.
1. 00 strrev000000,000000000C000O0O0O0OC0O0O0DO0OCO.
2. 0000000 strrev0000 staticO0O0O0O00O0O00O0O0O.

O exercise-13-6-3 000 O000000O0O0O0O0OO0OO0O0DODOOOOODOOODOOOOO.
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/* $Id: exercisel3-6.c,v 1.2 2004-07-02 11:10:04+09 naito Exp $ */
#include <stdio.h>
void hanoi(int, int) ;
int main(int argc, char **argv)
{
hanoi(10,0) ;
return O ;
}
/* n: OO0O0O, p: 00000 pole OOO
xp=0,1,2
* (p+(n&1)+1)%3:

* if n:even: 0->1, 1->2, 2->0
* if n:odd : 0->2, 1->0, 2->1 */
void hanoi(int n, int p)
{
if (n <= 0) return ;
if (n == 1) {
printf("%2d: %d -> %d\n", n, p, (p+(&)+1)%3) ;
return ;
}

hanoi(n-1, p) ;
printf("%2d: %d -> %d\n", n, p, (p+(n&1)+1)%3) ;
hanoi(n-1, (p+((a-D&+1)%3) ;

return ;
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